BlCYyYELES

DESCRIPTION
Rear Axle, 12x142 12D-167L-1.0P-13TL

PARTNUMBER QTY ASSEMBLY
CMPAXR00271

Front Axle, 12x100 12D-119.5L-1.5P-15TL

CMPAXF00270

HT Badge, Ouroboros

CMPHTB00293

Hanger, Front

CMPWFP19A

Frame Protection, Blanking Plate, FR Derailleur

CMPWFP19B

Hanger, Rear, UDH

CMPHUDHO1

Frame Protection, Chain Suck Plate

CMPWFP18B

Parts list & assembly for:

Ouroboros CR «vooiz2

Front Hanger Kit
DESCRIPTION

1 LB Hanger, Front

“@

CMPWFP19
PART NUMBER
CMPWFP19A

QTY ASSEMBLY

1 | I Frame Protection, Blanking Plate, Front Derailleur

CMPWFP19B

vEH Screw, M5x0.8, 16L, flathead

CMPBTG2PRO03

Frequently Asked Questions
BOTTOM BRACKET

PF 86

Frame Protection, Cable Port Cover

CMPWFP18A

BRAKE ROTOR NATIVE DIAMETER

Fork 160mm (w/adapter) / Frame 160mm

Frame Protection, Chainstay

CMPWFP18C

CHAINLINE - 1X

47.5mm

Frame Protection, Downtube

CMPWFP18D

Screw, M5x0.8, 16L, flathead

N alalalalalala

CMPBTG2PR03

Screw, M5x0.8, 10L, button head

NA

N
[$;]

Seatclamp, 34.9

CMPSCCL349

CHAINLINE - 2X/3X

47.5mm

HANGER

UDH/T-Type

HEADSET ID - UPPER

44mm

HEADSET ID - LOWER

56mm

Washer, 5.31D, 90D, 1.0L

NA

MAX CHAINRING SIZE - 1X

44T

Expander Plug, Top Cap, Bolt

NA

MAX CHAINRING SIZE - 2X/3X

48/31T

Frame Protection
DESCRIPTION

Frame Protection, Chain Suck Plate

PART NUMBER
CMPWFP18B

ASSEMBLY

MAX SEATPOST INSERTION

48-50 220mm / 52-54 260mm /
56 300mm/ 58 340mm

FRONT AXLE

12x100/12x119.5xP1.5x 15mm

REAR AXLE

12x142/12x167 x P1.0 x 13mm

Frame Protection, Cable Port Cover

CMPWFP18A

SEATCLAMP INSIDE DIAMETER

34.9mm

Frame Protection, Chainstay

CMPWFP18C

SEATPOST DIAMETER

31.6mm

Frame Protection, Downtube

CMPWFP18D

Screw, M5x0.8, 10L, button head

NA

Wasbher, 5.31D, 90D, 1.0L

NA

STEERER

Tapered 1.5" / 28.6-38.1mm

- ASSEMBLE WITH GREASE

ADHESIVE BACKED

PAGE1 /1




